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The (custom) [myrtle] was an aid for the elder — X2ob I NVIW

OVERVIEW

When "1 72 "1 passed away a pillar of fire separated him from the rest of
the people. 87’1 "7 commented that this was due to his style of dancing before
the n95. There are three versions as to how X1 " actually expressed this
thought. The last version was that X207 PN °17K. *"w7 explains the word
7NYw to mean his 7YW; his style and approach. nmooIn offers a different
interpretation.
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The n''9 interpreted the word 7°nvw that it is from the expression in a

P00 ‘a nuw tree and a myrtle tree’. He was referring to the 0777 (myrtle) as a qow.
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Even though the 7w and the 0777 are not exactly one species, nevertheless

they are both a type of ™R (cedar). Therefore it is appropriate to refer to the 077
as a mow.

n1voIN asks:
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And if you will say; how did X957 '3 know that "2 ¥"9 merited the fire
surrounding him on account of the dancing with the 0771?

MDoIN answers:
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And one can say, that the pillar of fire that surrounded prx> 27 92 HXnw 27

was similar in appearance to a myrtle branch —
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As it is stated in 729 nOwWR92 w17 (concerning the passing of 1" PRwAw 17
Prx’) a column of fire descended and it became similar in form to a
myrtle branch —
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And it separated between >"72w1 and his peers —

' p1o5. The X721 is enumerating the various trees with which 7"2p7 will populate the dessert.

2 The X7»3 in (X,33) 71" states that there are ten types of 1, including o7 fow.

3 It would seem that Mo0N question is appropriate according to all versions of s'87°T "1 statement.
4 Tn our texts it is in 7,01
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The peers said, ‘see this elder that a pillar of fire is standing before him.

This is because of what he did in front of the 77®2°; that he danced before her
with the myrtle branches.

SUMMARY

The term 7°nY W refers to the 7w tree which is a type of 17X similar to the
077 tree. They knew that the pillar of fire that separated °"72w7 was on
account of his dancing with 2°077, because the fire was shaped as a o077
branch.

THINKING IT OVER
1. How can one explain the dispute between "1 and the 11"9 concerning the
meaning of 7NV W?

2. According to the 1" that 7°nww refers to the 0777 (which is similar to 7VY)
what is the difference between the first w9 of X1 "1 (which is 1% "R
7w, referring to the 077 Yw VW [see mnvWw "7 °"wA]) and this WY of
7N (since they both refer to a 077)?!°

3 See X"2v™7 owa pUnww.
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